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A= 16 n= 500 X = 600 E(x) = 3125
P(x>X) = 0.146607
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(a) P(@%)=0.246
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A certain type of aluminum screen that is 2 feet wide has on the average one flaw in an 80-foot

roll. Find the probability that a 60-roll has one flaw.
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b LAz ST R z:%:ms » P(x=1)=4e"*=0.75xe"" =

A=0.75 X

1 P(x) = 0.354275
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(a) FVar(X +Y) -
(b) T cov(2X +Y,3Y +Z) -
[5if7]
(@)
Var(X +Y)=Var(X)+Var(Y)+2cov(X,Y)

=0y +0y +2py ,0x0y =27 +37 +2x04x2x3=17.8

(b)
cov(2X +Y,3Y +Z)=6cov(X,Y)+2cov(X,Z)+3var(Y)+cov(Y,Z)
=6x0.4x2x3+2x(-1.6)+3x3*+0=38.2
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